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SH6E7H2 48 (K)
€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &

EEXFIE 55 |TJU 49.2 386 30
B X 162.4 1,259 119
RXAIH LA 43.5 1,477 519
>O0F 36.2 509 140
e 50.5 1,159 30
FA5 A 25.1 388 30
HFHS 25.0 139 20
>0OX/)VUl 149.5 1,378 400
JdEHAN 168.3 100 20
TRIRD 168.0 1,500 30
< koS A 31.6 400 30
Y= 94.6 2,100 400
BHE 128 Ry FHA 3,647.4 689 289
2]p 298 E=X 23.8 1,259 790
aité= 4,675.1




[(&£) (BT ¢ kg )
JRETELE =V n = = 18 Z 1B B &

EEXRIFE 552 |E5 X 1,332.5 1,500 600

A2HLA 56.6 1,700 800

<IF 40.9 1,800 300
#]D 29 E=5 X 828.4 1,500 800
ho 18 <73 37.6 1,400 1,200
BIK 6E 7oE 13.1 15,980 8,282
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2,309.1




